Question 3: Let -1r/6 < 8 < -11/12. Suppose a, and B, are the roots of the equation x2 - 2xsecé+1=0and a,
and B, are the roots of the equation x2 + 2x tanf — 1 = 0. If a, > B, and a, > B,, then a,+ B, equals

(a) 2(sec ® - tan )

(b) 2secB

(c)-2tan®

(d)o

Solution:
x2-2xsecB+1=0.()

=>x = [2 sec B++/(4 sec?s — 4)]/2
=secBttanB

xZ+2xtan 8 -1 =0 _.(ii)

=>x =-2 tan 8+\(4 tan + 4)/2
=-tanBtsecH

Since -T/6< B <-T/12

=>sec T/6>sec 6 >secT/12
-tan /6 <tan B8 <-tan /12
And tan T/12 < -tan B < tan 11/6
Given a, > B,
Soqgy=seco—-tanB
Bi=secB+tanB

Given a, > B2
Soa,=—-tan 8 +secH
Bo=—1anB8-secB
Sod;+P;=secb-tanB+—-tanB —secH

=-2tan @



